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(1) First Claim in Calendar Year

After calculating the employee's SLC pursuant to the first paragraph of this
section, refer to the applicable table (Table A through A-15 or B) to
determine the duration of the employee's entitlement to TD benefits as
follows:

(a) Under the column entitled Sick Leave Computation in the
applicable table, locate the number of SLC in hours and read
across to determine the maximum duration of TD benefits
allowed.

Example: Table A shows that if an employee's SLC is 80 
to 119.9 hours, the maximum duration 
for receipt of TD benefits would be 5 
weeks. 

(b) It should be noted that if an employee's SLC provides sick
leave coverage for a total of three weeks or more, the
employee is not entitled to TD benefits for the calendar year
and no further computation is required. However, the
employee should be notified that his/her claim is being
denied in accordance with the procedure on "Denial of
Claim" found in Section M of this Plan.

(2) Other Than First Claim in Calendar Year

(a) At the onset of the current disability (second, third, etc. in the
current calendar year), calculate the employee's SLC
pursuant to the first paragraph of this section.

(b) If the employee's SLC provides sick leave coverage for a
total of three weeks or more, the employee is not entitled to
further TD benefits in the calendar year. However, if the
employee's SLC provides sick leave coverage for less than
three weeks, refer to the applicable table to determine the
duration of the TD benefits for the current disability.

(c) Review the employee's previous TD benefit claim(s) to
determine the duration of TD benefits actually used or
received for previous disabilities in the current calendar year.

(d) Subtract the duration of TD benefits actually used or
received for the employee's previous claim(s) in the current
calendar year from the duration of TD benefits for the current
claim as shown below:
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Examples 

(1) First Claim in Calendar Year

A full-time employee (40 hours per week) whose average weekly
wage is $255 has used 40 hours of sick leave in the current
calendar year and has 40 hours of sick leave credits earned but not
used at.the onset of disability. Should the employee meet the
eligibility and other requirements, the TD benefits would be
calculated as follows:

(a) Sick Leave Computation

40 hrs. of sick leave used 
+ 40 hrs. of unused sick leave

SLC = 80 hours 

(b) Duration of TD Benefits:

Per Table A, if the employee's SLC is 80 hours, the 

duration of TD benefits would be 5 weeks.

(c) Weekly Amount of TD Benefit Payment: 

(i) 

(ii) 

58% of AW\/\/= .58 x $255 = 
$147.90. The product of 
(.58 x AW\/\/), if not a multiple 
of $1.00, is rounded off to the 
next higher multiple of $1.00 

MWBA (Y2000) 

Weekly amount of TD benefit is the 
lesser of (i) or (ii) above: 

$148.00 

= $372.00 

= $148.00 

In the above example, the employee would be entitled to 5 weeks of 
benefits at $148.00 per week and the maximum amount of benefits 
payable would be (4 x $148.00) $592.00. It should be noted that the 
employee, as in all cases, must serve a waiting period of 7 calendar days 
and must exhaust all unused sick leave credits prior to receiving benefits. 
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(2) Other Than First Claim in Calendar Year

A full-time employee (40 hours per week) whose average weekly wage is
$255 has used 80 hours of sick leave in the current calendar year and has
a zero balance of sick leave credits earned but not used at the onset of
the second disability in the same calendar year. The employee received 2
weeks of TD benefits for the first disability in the calendar year. Should
the employee meet the eligibility and other requirements, the TD benefits
for the current or second disability in the calendar year would be
calculated as follows:

(a) Sick Leave Computation:

80 hrs. of sick leave used 
+ 0 hrs. of unused sick leave

SLC = 80 hours 

(b) Duration of TD Benefits:

(c) 

Per Table A, if the employee's SLC is 80 hours, the duration 
of TD benefits would be 5 weeks. However, since the 
employee received 2 weeks of TD benefits for a previous 
disability in the same calendar year, the employee is entitled 
to only 3 weeks of benefits for the second disability.

(i) 

( ii) 

Duration of TD benefits for current 
claim: 

MINUS 

Duration of TD benefits actually used 
or received for previous claims in 
calendar year: 

EQUALS 

(iii) Net duration of TD benefits current claim:

Weekly Amount of TD Benefit Payment 

(i) 58% of AWW = .58 x $255

(ii) MWBA (Y2000)

Weekly amount of TD benefit is the lesser of 
(i) or (ii) above:

5 weeks 

2 weeks 

3 weeks 

= $148.00 

= $372.00 

= i148.00 
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In the foregoing example, the employee would be entitled to 3 weeks of benefits 
at $148.00 per week for the second disability in the same calendar year and the 
maximum amount of benefits payable would be (2 x $148.00) $296.00. It should 
be noted that the employee, as in all cases, must serve a waiting period of 7 
calendar days prior to receiving benefits. 
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The agency may on its own discretion or initiative reconsider an adverse 
determination if subsequent information or new facts indicate that a 
reconsideration is in order. In such event, the employee and the DC Division 
must be notified in writing immediately so that a hearing will not be scheduled. 





DURATION OF TEMPORARY DISABILITY {TD) BENEFITS 
(for employees who normally work 

more than 38 and up to 40 hours per week) 

TABLE A 

*SICK LEAVE DURATION OF TD BENEFITS AFTER 
COMPUTATION (SLC} FIRST CLAIM IN CALENDAR YEAR 

(in hours) 

 Please see following page

for update to table A - A15

 

DURATION OF 
TD BENEFITS 

(in weeks) 

 The duration of TD benefits for other than 
the first claim in a calendar year shall be 

    computed as follows: 

    
(a) Duration of TD benefits for

    current claim:

     
MINUS 

     

     (b) Duration of TD benefits
actually used for previous

     claim(s) in the same
calendar year:

     

    EQUALS 

     
(c) Net duration of TD

   benefits for current claim:

- ---�---------------------------------------------------------------------------------------------------------------------------------

*Sick Leave Computation (SLC) is an employee's combined total of
(a) sick leave hours used from the first day of the current calendar year to the day

preceding the current disability and
(b) sick leave hours earned but not used as of the first day of current disability.

**SLC provides sick leave coverage for a total of three weeks or more. 

Note: Section H of the TD Benefits Plan requires that an employee shall serve a 
mandatory waiting period of seven consecutive calendar days starting from the first 
day of each disability before temporary disability benefits become applicable. 


























